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ANSWER ALL QUESTIONS ON THE SPACES PROVIDED

1. Outline four problems encountered when measuring national income using the expenditure approach.						(8 mks)

i........................................................................................................................................................................................................................................................................................................................ii.......................................................................................................................................................................................................................................................................................................................iii......................................................................................................................................................................................................................................................................................................................iv......................................................................................................................................................................................................................................................................................................................
2. Outline four features of perfect competition market.			(8 mks)
i........................................................................................................................................................................................................................................................................................................................ii.......................................................................................................................................................................................................................................................................................................................iii......................................................................................................................................................................................................................................................................................................................iv......................................................................................................................................................................................................................................................................................................................
3. Give four channels that can be used to distribute a locally manufactured good.											(4mks) i........................................................................................................................................................... ii.......................................................................................................................................................... iii......................................................................................................................................................... iv.........................................................................................................................................................
4. Outline four circumstances when a producer would choose to sell his products directly to the consumers.						(8 mks)
i........................................................................................................................................................................................................................................................................................................................ii.......................................................................................................................................................................................................................................................................................................................iii......................................................................................................................................................................................................................................................................................................................iv......................................................................................................................................................................................................................................................................................................................
5. Give four types of unemployment and outline the cause of each.	(8mks)
i........................................................................................................................................................................................................................................................................................................................ii.......................................................................................................................................................................................................................................................................................................................iii......................................................................................................................................................................................................................................................................................................................iv......................................................................................................................................................................................................................................................................................................................
6. Define the following terms.
a. Optimum population
......................................................................................................................................................................................................................................................................................................................... 
							
b. Localization ......................................................................................................................................................................................................................................................................................................................... 
c. Economies of scale
.........................................................................................................................................................................................................................................................................................................................
d. Unemployment
......................................................................................................................................................................................................................................................................................................................... 
7. Write down the basic bookkeeping equation.				(2mks)
......................................................................................................................................................................................................................................................................................................................... ......................................................................................................................................................................................................................................................................................................................... 
8. Complete the table below							(6mks)
	
	Asset
	Capital
	Liabilities

	a
	80,510
	
	19,120

	b
	
	153.200
	113,900

	c
	8,790
	1,340
	

	d
	
	10,000
	1,610

	e
	20,800
	
	12,800

	f
	5,330
	310
	



 9. Outline four measures that can be taken to solve unemployment problem in Kenya.						(8 mks)
i........................................................................................................................................................................................................................................................................................................................ii.......................................................................................................................................................................................................................................................................................................................iii......................................................................................................................................................................................................................................................................................................................iv......................................................................................................................................................................................................................................................................................................................
10 Define the following terms and give an example in each case.
Asset..............................................................................................................................................................................................................................................................................................................Example...........................................................................................................................................Liabilities.....................................................................................................................................................................................................................................................................................................Example...........................................................................................................................................
11. Kiandu Trades had the following assets and liabilities on 31st Dec. 2006.
				Kshs.
Bank				50,000
Debtors			30,000
Creditors			50,000
Furniture			35,000
Stock				20,000
Bank overdraft		15,000
Loan				20,000

Required – prepare Kiandu traders’ balance sheet on 31st Dec. 2006. 												(10mks)














12. Outline the circumstances when Air transport can be used to transport goods.										(8 mks)

..........................................................................................................................................................................................................................................................................................................................  ..........................................................................................................................................................................................................................................................................................................................  ..........................................................................................................................................................................................................................................................................................................................  ..........................................................................................................................................................................................................................................................................................................................  .............................................................................................................................................................
13. Indicate the account debited or credited by each of the following transactions.  								(8 mks)

	
	Transactions
	A/c debited
	a/c credited

	a
	Paid creditors
 in cash
	
	

	b
	A debtor paid by cheque
	
	

	c
	Bought stock on credit
	
	

	d
	Withdrew cash from bank for business use
	
	


14. Outline the circular flow of income in a two sector economy.	(10 mks)
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